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1.

2.

Which two statements about carbon monoxide (CO) are not true? (2 correct answers)
a.)  CO has high affinity towards hemoglobin and reduces blood OXygen carrying capacity
b)  COis a principally a primary air pollutant
c.) COis grey in color
d.) CO is the cause of acid rain
¢.)  CO can be emitted from car (incomplete combustion)

LDs is used for measuring toxicity of a compound.
(part I)

If compound A has LDsy =5 mg/L and compound B has LD, = 20 ng/L, which compound (A or B) is more
toxic?

{part IT)
What are the problems of this method? (2 correct answers)
a.) It neglects the long term (chronic) effect
b.) It neglects the synergistic effect with other toxins
c.) Itisnot as accurate as LCs,
d.) It can only be tested on the fish.
e.} Itcan only be tested on mice.

Which of the following is a non-conventional energy sources?
a.) Coal
b.)  Petroleum
¢.) Natural gas
d.) Hydrogen

Which resource is used to produce nuclear energy?
a.)  Aluminum

b.) Bauxite
¢.) Uranium
d.) Potash

Waste is considered hazardous because of its:
a.)  Quantity
b.)  Physical characteristics

c.) Chemical /infectious characteristics
d.) All of the above
e.) None of the above

The most undesirable plume dispersion pattern is
a.) Fanning

b.) Coning
c.) Fumigation
d.) Lofting

This is the concentration profile for NO, NO, and Os.

Which line most likely represents NO, concentrations
throughout the day in Taipei city? [3
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8.

10.

In a clean river environment (not heavily polluted), will compound X (pKa =9.5) exist in its deprotonated or
protonated form? Please explain.

Contaminant X undergoes first order degradation in the aqueous environment, having degradation constant of 0.1 per
second and initial concentration of 5 mg/L. What is the half life of this contaminant X?

=]
How is the "photochemical smog” formed? (What are the essential elements in forming the photochemical smog?) F?
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12. () FEFH“A-weighted sound level”? (b) &2% “phon” ? (10%)
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